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S 387,833 367,833 386,355 386,355 1,479

0702
Hataus 378, 153 378,153 378,062 378,062 o
30110
E TN 880 880 493 493 387
0112
SErsaa 8,800 8,800 7,800 7,800 1,000
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X3 46,756 46,756 46,756 46,756
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Giowzas 307,263 307,263 306,296 306,296 %67
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tiomza 240,717 240,717 240,685 240,685 3
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Sodasea 66,546 66,546 65,612 65.612 934
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THar3 St 24,000 24,000 23,997 23,997 3
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Y 24,000 24,000 23,997 23,997 3
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2151210
EEJT 235,000 235,000 235,000 235,000
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ECE 224,000 224,000 224,000 224,000
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207
CEPT 90,000 90,000 79,948 79,948 10,052
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0iibIbl S 20,000 20,000 8,649 8,649 11,351
5211-420
JIEt 20,000 20,000 8,649 8,649 11,351
gt =2 JIEF 20,000 20,000 8,649 8,649 11,351
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